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Question1 (£ EEAHER)

TR R Ve A AT
SRR HEAERA TR T 2% =
AR RS S LR B, (R 2% 2
BARA SRR AR E AT, e
A = R

1L

. 2 U TE = Fr TP

4 ! € S ARINEUE = TR S = T

Solve for x.
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H—25 E 15 = fAJF ABE % —1E = A
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HIF%AM%15%E £ EBC=80-60=20°
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L E BF=F'D=x, DE=y, H|FE=x+y, CF=1-x, EC=1-y
FirLA EC+CF+FE =(1-y)+( 1-x)+(x+y)=2
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B AC
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KO AC2=52442-2%5%4%0s30°
v # /CAB=0

ZACB=150° -6
Hl ZDAB=60° +6
/ZDCB=210° -6
(AD)?+5%-2*5*(AD)*cos(60° +6)
=(CD)?+42-2*4*(CD)*cos(210° -6)
=(BD)?
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https://www.youtube.com/watch?v=kfijuP5HDjU
https://www.youtube.com/watch?v=ct_9170Bf60o&t=192s
https://www.youtube.com/watch?v=Rjo-PcrKrB0&t=182s
https://www.youtube.com/watch?v=5vhkIRWogzo
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